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11.Give the man’s foot positions for impetus, Q. Give the lady’s

1 1
2 2
3 3
4 4

12. Give the man'’s foot positions for 4-6 spin,  Give lady’s

4 4
5 5
6 6

13. Take this amalgamation: 1/4 turn to R, progressive chasse, forward lock, natural turn with
hesitation, double reverse spin, chasse reverse, progressive chasse, forward lock, make it
shorter in time and space.

14. Which figures have early rise & fall?

15. Which figures have continuous R & F?

16. Which have none?

17 Which have sudden? Does the man’s and the lady’s R & F always match on these figures?

18. List the Natural figures and give their sway.

19. Give an amalgamation that uses reverse pivot and natural pivot.

20. Give an amalgamation that uses the natural back lock and the natural pivot.



